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600 AtSiz=92l 16,708,000) 12,989,880| 3,718,120
610 ¥ ==l 12,901,932 12,685,360 216,572
1 Alg242 11,953,384| 11,564,715 388,669
611-01 t¥E 4,246,723| 3,965,371 281,352
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4702 X 415 X 18,365& X 12 4,246,723
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661 JIEtE H =2 78,548 50,645 27,903
661-03 JIEt=2 2 23,580 28,970 5,390
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-& 25mmIt X 10,000& X 3& = 30
& 40mmO| &f 20,0008 X 38 = 60
661-09 JIEtSE 42! 54,968 21,675 33,293
aot==5 0t
O 4sZd+H S0ERE=S HELR =82
19,020,000 X 170& X 1.7% = 54,968
A2 3,806,068 304,520) 3,501,548
671 Ol Kt==< 75,680 74,300 1,380
671-01 OIS0l Kt==< 75,680 74,300 1,380
aot=s=E 0t
O &Jlol= 5,640,000&8 X 128 = 67,680
O 2s0= 4,000,0008 X 23 = 8,000
672 Bt HE LS =2 3,728,880 228,7112) 3,500,168
672-01 LEZHE L= 3,500,000 0| 3,500,000
aot==5 0t
O &=ZAg el oMY=
3,500,000,000& X 14 =] 3,500,000
672-02 EtSEAHH Y= 170,000 166,000 4,000
aot==E 0t
O ot=ZAEE =E8EHs =2 85,000,000& X 23 = 170,000
672-04 EtSEAXNE =S 58,880 62,712 N3,832
S2S ML
dEZaAHHeZ2 NE3S(

58,880,000& X 1& = 58,880
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